http://drorbn.net/AcademicPensieve/2017-10/one/Simplifying_yaxyax.pdf

Dror Bar-Natan: Academic Pensieve: 2017-10:

Simplifying yaxyax

October 16, 2017 2:41 PM

anozy  Talks/LesDiablerets-1708, esp. PBWDemo.nb, ver-
ifications  2017-10/Phi2CR-Classical.nb: In U(g) =
<Iay=a%x>/([ts ] =0, [a,x] =X [a,y] = =) [x,y] =1— 25&)9
we have [ [, e"'e"e® e = e"eMe™et™, with

log(1 — € 261 _ € - 5
T=T1 +T2 — g( nf)—rl FTo+mér + zmré) + - ..
€ 2 °“
e “'m | -
n=n + = +e " +ee I+ ...,
(1 — emér) S
@ =) + ay +2log(l — empé)) = oy + ar — 2ené) + ...,
e & o ,

&=

+&h=e P& +h tee Pmél+ ..
(I —eme) |

Will, T=0¢7, A=C", get

2017-10 Page 1



http://drorbn.net/AcademicPensieve/2017-10/one/Simplifying_yaxyax.pdf

ary, Tiav(Tr) A [* 4)

2017-10 Page 2



